F25HkA (F6BIR)

AL (FLAR)

AFLBATH AFIJCES5H 10A
S e 343130001267
A KL 85 Fr FRL TP B S SRR AL
4 FERY 7y =7 (P [Eq7E) 15K
LA AR T2 %%ﬁfﬁ 1,608,984
No. AALE O 5 T4 10 $F20E 30 R eSS
1 [AMREHET 2 IF 5 2,325,600
2 [BEREt=T = 1,489,800
3 ARt —1 2,100,000
4 RS HERTREAT 1,800,000
5 @B a—y— AT AEA 2,306,704
6 | tiE SRt 52— 1,680,000




F25HkA (F6BIR)

AL (FLAR) W6 R

AFLBTH AFIJCES5H 10A
S e 3431300012745
A KL 5 F FRL TP B S SRR AL
4 FERY 7y =7 (P 50y) 158
LA S SN %%ﬁfﬁ 1,399,680H
No. AALE O 5 T4 1 2l 530 LI eSS
1 [EMREHET 2 IH 5 2,203,200
2 [EREHTT = 1,296,000
3 ARt —1 1,780,000
4 RS ERTREAT 1,764,000
5 @B a—y— AT MF At 2,026,648
6 | tiE SRt 52— 1,512,000




F25HkA (F6BIR)

AL (FLAR) W6 R

AFLBTH AFIJCES5H 10A
S e 343130001284
A KL 5 F FRL TP B S SRR AL
4 BEHY 7 =7 (R Jesl) 1R
LA S SN %%ﬁfﬁ 1,396,440H
No. AALE O 5 T4 1 2l 530 LI eSS
1 [EMREHET 2 IH 5 2,203,200
2 [EREHTT = 1,293,000
3 ARt —1 1,790,000
4 RS ERTREAT 1,764,000
5 @B a—y— AT MF At 2,026,648
6 | tiE SRt 52— 1,512,000




F25HkA (F6BIR)

AL (FLAR) W6 R

AFLBTH AFIJCES5H 10A
S e 343130001294
A KL 5 F FRL TP B S SRR AL
4 ERY 7 =T (N - EEE) 12
LA AR =T a0 %%ﬁfﬁ 5,702,400
No. AALE O 5 T4 1 2l 530 LI eSS
1 [EMREHET 2 IH 5 8,364,000
2 [EREHTT = 5,280,000
3 ARt —1 5,880,000
4 RS ERTREAT 6,816,000
5 @B a—y— AT MF At 8,446,808
6 | tiE SRt 52— 6,039,000




F25HkA (F6BIR)

AL (FLAR) W6 R

AFLBTH AFIJCES5H 10A
S e 343130001304
A KL 5 F FRL TP B S SRR AL
4 ERY 7 =T (N5 1
LA AR =T a0 %%ﬁfﬁ 5,184,000
No. AALE O 5 T4 1 2l 530 LI eSS
1 [EMREHET 2 IH 5 7,956,000
2 [EREHTT = 4,800,000
3 ARt —1 5,500,000
4 RS ERTREAT 6,678,000
5 @B a—y— AT MF At 7,386,596
6 | tiE SRt 52— 5,403,000




